xE 2> x 7% 9] o5 FollA o® o FHiE Ehd 5= Q)
H Mee? (B a = AA7)

rr

A o, x

@274 @4 (@)6711 @8/ ©10H

25 x 73 9] ek F (A EF)2 o] HE =
1, 22, (22)2, 72, (2x7)?, (22 x7)?
- 67]o]t}.




2.

= R 9 JRQlsk?
Adigtol 4 oy 311 7 B} 2k 4= BE H 717t

® 17 @ 278 ® 374 @)4 7h ® 574

thHgl—o] 4£E}_§)_J_7EE}1%1_/F_;
-0, —5,5,6(47H)




3. U gaEs -g, ) g Zo|A N G2 A 52 Bol T 0,

Ak 2 S

I~

35 35
® -14 @) - ® 5 (@)15 ® 21

3% (-2) x (—%) =15




Hatol 4
MOl 4= (a, b, ¢) & A=

SR

olskel Al A% a, b, ¢ o Hiote] The 2L HHEs

P axb<0
th a-=b<0
C) bxec=0
E) a o AUighe -3 o AuigiEo Ao,

® 1 @ 2 ® 3 @)« ® 5

Oh, hell &S ab <0, a<b = a<0, b>0

eholl Dl be=0 = b=0F=c=0

b>00B2¢c=0 --- @D

@hell ool a = -4 ==

I8 a< 09| B2 g=-4 --- @

O, dMa=-4, c=0°]1,b>00B2bE1,2 3,4
Z9] shtoltt.

J8Bg 879 21& W&o
(a,b,¢) = (=4,1,0), (=4,2,0), (=4,3,0), (-4,4,0) 02 BT 4
7foltt.




